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Use sigma notation to write the series —E R Th e R L irscs .- SCORE:_~_ /20PTS
36 12 . 3072 e— gemeﬁwc, e o T

Show clearlv the al ebra used to find the upper limit of summation ie, not just by countin
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Find parametric equations for the elhpse with (1, —5) and (—1 11) as foc1 o I SCORE /20 PTS
and: (I 3) ‘as one endpoint of the minor axis. : o : - L
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‘Find the coefficient of x'>y* in the expansion of-(7x3 5y%)7, SCORE:
" Your final answer may use +, —, X and posxtwe powers. It may NOT use - ', +, negatwe exponents NOR fractions.
It does NOT need to be snnphﬁed into a single number. Show all work as demonstrated in lecture, :
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' Cons1der the sequence deﬁned recursively by a = n 2an 5 @ =2,

: Fxnel _the first 4 terms of the sequence, and wrlte_ them a_s a h_st. .
. C\L¢ .29-__2@’ - 4{:‘;&.{- =)
= 2% 2a,- 9-0=9
Cl = 47~ 204, —-ltyflgf 2
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Last year was a geod year for the Lee s family busmess Durmg January 2012 revenues were $19 173 ~ SCORE:
~and operatmg costs were $5,418. : : ‘

N OTE You must show the use of the relevant seguence and/or serles formulae to earn full credlt for the followma m‘oblems

{a] If revenues each month were 1 5 % higher than revenues the previous month
. whatwas the total revenue from J anuary 2012 to August 2012 2
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[b] If operating costs each month decreased by a fixed amount (in dollarg) frorn the previous month ’ .
and operatmg costs in August 2012 were $4,144, what were the total operating costs from January 2012 to December 20 12 ?
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Find rectangular equations corresponding tq the paramcftrié §qﬁa_ti‘qns x = —2—-—?; y= t—_—g ' | SCORE: __
Write  as a function of X. - - : '

x(2-£)=1T - ‘”3' 32*53‘I*X
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2n-1)2n+1 S | SRR
( n- )( z )forallmtegers n>1 . SCORE:____/30PTS

Coi=l

Prove by mathematlcal induction: Z (21 1)

Asswé jl@ﬂ Y= k@k@@"*’*) FoMn SOME P,M:ﬂcpl_ﬁfrl RoT

= 2 Aremay wTeGeR k)
¥ (23 D@ ey

e r;)czwb oY

@k-&—*\} ()LCZL—-D ;_Q__p,.\/l

1

- (ZK*D 2 bbb ‘— SO \’3‘/ Mﬁ’ﬁﬁr@v}ﬂ'ﬁ%
S WDOETION,
- D S . - YZJ’WD
. -(zuoc wwgpﬂ} 3 ey 22 ;
2 - }(:Dfl- AL JSTEBERS
- %ﬂcuggu 2 o nz|

3




